Drainage
For drainage design the following information is available:

depth of tile = 1.2 m; 
depth to water table = 0.8 m; 
depth to impermeable  layer = 7.2 m; 
drainage coefficient = 0.007 m; 
hydraulic conductivity = 0.8 m/day. 
Estimate the required drain spacing
For drainage design the following information is available:

depth of tile = 4 ft; 
depth to water table = 1 ft; 
depth to impermeable  layer = 12 ft; 
drainage coefficient = 3/8 inches; 
hydraulic conductivity = 2 inch/hr. 
Estimate the required drain spacing
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A controlled drainage system is installed in a soil having a drainable porosity of 0.066, a hydraulic conductivity of 0.12 ft/hr and an impervious layer 12 ft below the drains. The drains are installed 4 ft below the soil surface and spaced 120 ft apart. If the water table is initially held at the soil surface, determine the time when the controlled structure should be opened to allow the mid-plane water table to be 3 ft below the soil surface at 6 am on April 28 when the farmer begins planting.  Assume that the water table shaped like a fourth degree parabola and that no rain falls over the period when the water table is falling
[image: image1]